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YR g : AU 9 i (W99 € 9 wo)

[T WETAT AT : 1 TeAufRhdiel 5 SRAeedn TgATe S I A, A Sl I Aaarea
T T AT 0T Heseiiet. Ueh sRISR 316et adt 0T fesuTR ATé. The questions with =t mark
has two correct answers. Encircle the two answers, then you get marks.For one
correct answer, you won't get marks.

9.01 ‘faw] amA PRatge’ U e ............
O FHgam= @ wifder= ® chvEga @ g.a.
9.02 UH WIS UG HgA (YT FUTEd g ?

@ ur| @ & O = @ =m
.03 “[Eheig AT Ve SISIeR fehdt ?

O w @ g ® = @ ud AT
.04 Wielceh! e arer St ?

O g, WA <. @ gen AuRTg EEd F ?

@ W wRA ATEE ATA. @ it =1 =W Al
9.05 faiE wemadiEE wwaw e & 7o ...

O Teurs @ e ® wewed @ wwdur

.06 iRt TEUTEt ‘I AIEn ATefda™ 3. A ArerITd whivrd fermig Ui g ?
O weufer™ @ swifer™ ® sgmiae @ woafarg
9.07 9 09 TeTd 7 SHUTRT 765 ShIUTal ?
9.07 Owevi-gg Qum-ftm OfF-ww @ = - @
7.08 O gd @ u= ® g @ FeA
7.09 O g=m @ ezt ® wwE @ wuiE
9.10 UG FUT A1 SRR 96 312 T ?
@ ot got @ gman@wet - Q@ St gt @ gtere FOI
.11 s FATAT ShivTdn T 168 ATE ?

O TR @ wrER ® g @ wgEreHl
012 STg IIEE .

@ nfeeht @ =gzt ® gyfen @ afdan
713 FTSURAEN ........... THeTel THATe AT Tl e,

O® ==t @ wa= @ Icardt @ A
T.14 wHIUHE ATl FER AT HiAmefi=an 79[ U9 ... 2 2.

OR> | ct- | @ et ® = @ rmuTieran
.15 el g T H0T ?

@ =@ @ rg @ gwa @ aut
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Q.16 oo, Frentma PRice &a wem swa
@ wmfgyst @ fermygs ® wrewA @ TS
Q.16 In.......... triangle medians are altitudes.
@ isosceles triangle @ scalene triangle
® right angled triangle @ equilateral triangle.
QA7 ... FrentuTa g PRiea g et PRifsgn seam.
@ favmerenE @ e ® wghA @ fersmyst
Q17 In........ triangle altitudes to sides of triangle intersect at the vertex.
@ obtuse angled triangle @ right angled triangle
® acute angled triangle @ scalene triangle
Q.18 TRX =618+ [36+ [169 M x=? Findvalue of'x"if X =618 + [36+ [169
@ 25 @ 15 @ 22 @ 35
Q.19 92 AT(UT 102 | Tehelt RTeR T ATgA ?
Q.19 How many natural numbers lie between 92 and 102?
@17 @ 18 ® 19 @ 20
Q.20 R 3xv = 27 3T 3 = 243, 'x' = fohma fohelt = ...
Q.20 If 3*¥ =27 and 3**Y = 243 value of 'x'=.........
Do @ 2 ® a4 @6
Q21 10%:102= O10000 @ 1000  0.0001 @ 0.001
Q.22 SR/If52=3125 W53 = ... ?
Q.22 If 52=3125 then value of 53 is ........
@ 25 @ 125 ® 625 @ 1625
Heedl HHTES! M. .....
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Q.23 8 -J4-2=7
D2-2 @ 2-2 ® 2 @ -2
Q.24 ... =1 90% U 540.
Q.24 If the 90% of a number is 540, then what is that number ?
@ 400 @ 600 ® 650 @ 540
Q.25 3ISliae 9 STaTa Uk fafve amdt e, 10 = e &H e hed™
LTETet T 8 3 TTEel.aX el Teie el fhdt ?
Q.25 Ajit has a certain average for 9 innings. In the 10" inning, he scores a
century, then by increasing his average by 8 runs. His new average is...
@ 20 @ 21 ® 28 @ 32
Q.26 8 WA fohlid 12 TUA 31T TR 37.50 HUITA {ehell WAt faehd oal Jciiet ?
Q.26 8 oranges cost £12.00, how many oranges can be brought for
T37.50 ?
@ 21 @ 23 ® 25 @ 26
Q.27 TS TRl e 500 UENITAT 24 fqa@il QU |@iE SR, SR
AMUTE 300 Y& AT R At feret feawm giet 2
Q.27 Agarrison of 500 men had provisions for 24 days. A batallion of 300
men arrived. The food will now last for........... days.
@15 @ 16 ® 17/ @ 18
Heedl HHTEGS! M. .....
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Q.28

Q.28

12 AR femTdiet 8 A6 | e Uk i 10 e gut wtam, @ d=
I TS 15 AT HH FHEA 8 [GaHTd Yol SHUHIES! fohl AR NI ?
12 men working 8 hours a day complete a piece of work in 10 days.
To complete the same work in 8 days working 15 hours a day, the
number of men required is........

@ 4 OF ® 6 OF:
Q.29 \|x2+17=9 ™/ thenx=7?
OF:; @7 ® 6 OF
Q.30 T FHEY BRI WA SN UK 2:3 318, SR olgH e
GRS 48 cm? 3THE TR WIS FHehiuma ghes Tehedt ?
Q.30 Corresponding sides of two similar triangles are in the ratio 2:3. If
the area of the small triangle is 48 cm?, then area of larger triangle
[T
@ 230 @ 106 ® 107 @ 108
Q.31 AABC UH&U ADEF HE /(AB) = 4cm, /(DE) = 6cm, /(DF) = 12cm /(EF)
= 9cm, TR AABC =it URTHet fehedt ?
Q.31 AABC and ADEF are similar If /(AB) = 4cm, /(DE) = 6cm, /(DF) =
12cm /(EF) = 9cm, then perimeter of AABC is ......
® 22 cm @ 20 cm ® 18 cm @ 16 cm
el HHTHS! M. .....
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Q.32 WIGHCTh! ShIUTEAT ST HgHl THET TEard ?
O = Qw€rm O umym B @ wmigyw BeRo

Q.32 Which of the following are not always similar figures ?

@ circle @ square
® equilateral triangle @ isosceles triangle
AB _BC _ CA
Q.33 <2 U1 AABC 9 APQR Hl SR QR-PR - PQ ™
AB _BC _ CA
Q.33 If in two triangles AABC and APQR QR_PR _ PQ then
@ APQR ~ ACAB @ APQR ~ AABC
3 ACBA ~ APQR @ ABCA ~ APQR
Q.34 AABC 371fU1 ADEF W& /B = /E, /F = /C, AB = 3DE ™ 23! {5Rlut.....
@ &Y qUT GHEY T8 @ |WEY UuT THEY AR
® THEY ATEA T THEY TG @ UhEY I THEY YUT AT

Q.34 In AABC and ADEF /B = ZE, Z/F = ZC, AB = 3DE. Then the two
triangles are.....
@ congruent but not similar @ similar but not congruent
® neither similar nor congruent @ congruent as well as similar
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Q.36

TehT TehHl 3Teleh AXeh ST 8 TuId 2,900 HU FraTd SATTUT &=l &
10 9T 3,000 FUA AT, T Teil a8 ST <X fehell ?

A sum of money at some rate of simple interest amounts to 2,900
rupees in 8 years and to 3,000 rupees in 10 years. The rate of interest
per annum is

®© 4% @ 2.5% ® 3% @ 2%
Q.37 , |25% =? © 5% @10% ® 50% @ 20%
Q.38 1540 =1 Brerivft T@=n uren fERdi ?
Q.38 What is the base of a triangular number 1540 ?
__________ O©s2  ©s  O5 @55
99
Q.39 9955 x99 = ?
@ 100 @ 9900 ® 9099 @ 9999
Q.40 TR fohma enfor ok fhwa == TUTR 4:5 S T ke T foRdt 2
Q.40 Ratio of cost price to selling price is 4:5 then profit percent is........
@ 10 @ 20 ® 25 @ 30
HTTIT HHTETS! SR .....
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Q.41 U 75,000 TUA FRACN HICR A= faehd Sdell SR ATl ot HIZR
TATIFHA 20% TFI fahma=ht 2@ @ Uier ke fosht fhma foredt 2

Q.41 Rohan bought a bike for 75,000 rupes. He wants to sell it making a
profit of 20%. What is the selling price of the bike ?

@ 50,000 @ 60,000 ® 80,000 @ 90,000

Q.42 T DU fhAd 5000 TUF TR, UG @t 3500 HUATEAT forehett @@ =
EERIA fehelt 2B dleT AT ?

Q.42 Anitem was marked for Rs.5000, but sold it for Rs.3500. What is the
% loss in the transaction ?

OF @ 10 ® 30 @ 20

Q.43 2/?m* TS d 3/2 n2 HEAT SEAT RHK ..........

Q.43 The perimeter of a rectangle with length 2/2m? and breadth 3/2 n2is
@ 2/2(2m? + 3n?) @ 2/2m2+3/2n?
® 2/2m2+6/2n? @ 4/2m>+3/(?n?

Q.44 6xy’z TS| SFFCTEA T TAES ...........

Q.44 The volume of a cube of side 6xy?z is.......

@ 36x2y2z2 @ 216x%yz3 ® 36x%y3z @ 216x%y°z°

Q.45 TeHT ARETSHT RO AT 4./2 cm. 3T, TS GIE SAERTeal ARETea
TR ATl fohdt ?

Q.45 The diagonal of a square is 4./2 cm. The length of diagonal of
another square, whose area is double that of the first square is.....
® 8cm @ 82 cm ® 442 cm @ 6 cm

Fem MW@ WO
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Q.46 <R UehI SEIRIIGIEA ¢Tall, a1, S TUNTR 6:5:4 AT(UT UHKUT USHES
33300 cm? 318 T IEIRII= Bal ekl ?

Q.46 Ifthe length, breadth and height of a cuboid are in the ratio 6:5:4 and
total surface area of the cuboid is 33300 cm?2. What is the breadth of
the cuboid ?
® 95 cm @ 25 cm ® 55 cm @ 75 cm

Q.47 A, B 31U C IT<aT HITHh IcU=AT TUNRR 2:3:5 3¢, C =T W WK A
1 WIfHeh SCASATULT 1200 HULTHI SR 318, TR B = difueh Scasl fohell ?

Q.47 The monthly salary of A, B and C are in the ratio 2:3:5. If C's monthly
salary is Rs.1200 more than A, then B annual salary is......

@ Rs.14,400 @ Rs.24000 ® Rs.1200 @ Rs.2000

Q.48 5,7 3TMUT 8 ¢ 37eh Uchehardl ATUEA qdR IUTAT U A 3Teh! TEAT=
0 ferelt A5 ?

Q.48 What is the sum of all three digit numbers formed by using 5,7 and
8 each digit only once?

@ 4440 @ 6660 ® 3330 @ 5550

Q.49 TR 25x2 + (m-20) Xy + 64y? § JUI o AR W m = ?

Q.49 If 25x% + (m-20) xy + 64y? is a perfect square, then m = ?

@ 80 @ 100 ® 120 @ 60

Q.50 R 1728 = T 12 & ® 0.001728 < o= fehelt ?

Q.50 If cuberoot of 1728 is 12. Find cuberoot of 0.001728.

@ 1.2 @ 0.12 ® 0.012 @ 0.0012

Foem wEE @O
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Q.51

Q.52

Q.53

Q.54

Q.55

Q.56

Q.57

Q.58

Q.59

Q.60

Q.61

Q.62

Q.63

Q.64

Q.65

HIdE WL 2R Y

PAPER-Il : LANG. & INT. (Q.51 to 100)

"Just a moment, I ........... make you a sandwich."
@ was @ will ® should
When Geetu ........... back to night.

® come @ comes ® will come

Find the sentence of ‘Simple Present Tense.'

@ Ishallgo. @ He went. ® They will go.
Sir C.V. Raman was an ........... scientist of Bharat.
@© imminent @ immanent ® eminent

| have been living here ........... 1999.

@ since @ from ® for
Synonyms of Behaviour ...........

@ Loving @ Kind ® Blame
Which is "Definite Article ?"

@ The @ A ® An

"A place where bees are kept" ...........

@ Apiculture @ Hive ® Mint

Find the error. He clothes caught fire.

® He @ clothes ® caught

Choose the sentence of 'Past continuous tense’'.
@ They were going
® They has going

@ am

@ shall come
@ He goes.

@ imminence
@ during

@ Manner

@ None of this
@ stable

@ fire

@ They had gone
@ They was gone

Fill in the blank with the most suitable conjunction.

The children played in the park ........... it was dark.

@ upon @ till ® therefore

@ since

Choose the correct phrasal verb to complete the sentence --

........... the word in a dictionary.
® Look up @ Look in ® Look it
Choose the correct synonym of '‘Cheery’ :

@ Dreary @ Bleak ® Pleasant
Choose the correct antonym of the Implore :
@ Plead @ Urge ® Entreat
Choose the correct option to fill in the blank.
Have you ........... your dinner ?

@ has @ had ® have

www.mtsjalgaon.co.in

@ Look out
@ Blue

@ Refuse

@ having
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Q.66 d 68 TR — Number series -
2,4,3,7,7,3,4,7,3,7,4,7,3,4,2,2,4,7,7,4,3,4,7
Q.66 Tl TTAMICThd HEANTH AUTRT 37k hIUTAT ?

Q.66 Which is the middle most digit in the above series ?

O 7 @ 4 A 3 @ 2

Q.67 T TEIMI(CIohd SHARTA g AT TUITHR 21 ST 311, 3™ fehel
AT FTA AT ?

Q.67 How many times we get multiplication 21, of two consecutive
digits in the above series ?

@ 6 times @ 7 times ® 5 times @ 4 times
Q.68 Tt TEATHIICTehd Tohdll Ues TGN 3ATEd ?
Q.68 How many prime numbers are there in above series ?

@ 12 @ 15 ® 16 @ 13

Q.69770- ABCDE FGHIJ KLMNO PQRST UVWXY

Q.69 T RHT STEAehgd 17 o ALK VT ?
Q.69 Which is the 17t letter from left in the above alphabetical order ?

_________ @ 9RO . ®J
Q.70 THA ALHTACA AT T T LR I I el St 38R
JreAT ALHE JUIR 78R hHIvTd ?

Q.70 Which letter will come in the middle of the 4™ letter from 1st group
and 4th letter from last group ?

_________ oL .. 9K ON 1 ®0
Q.71 SR A=1, B=3, C=5, D=7 ITIHT0I &) CAT = ?
Q.71 If A=1, B=3, C=5, D=7 ........ soon then CAT =?
S 5120 @s5139 Q@541 @ 5110
Q.72 <R/If ARNAV = 56, @¥/then SHRIRAJ = ?

@D 80 @ 81 ® 82 @ 83
Q73 iadean JTehdid URUT ATa fehedt ?

How many rectangles are there in

adjoining figure ?
D 10 @12 O 14 @ 8
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Q.74 R Ueh Hichdieh WA GATE = 5137, LATE =3795 @ L = ?
Q.74 In code language if GATE = 5137, LATE = 3795 then find L= ?

_________ o1 .98 93 95
Q75 /13] s @9 @ 15
TR, ® 7 @ 21

E 3] 1 C1NE
T E® T ONIEl O[N] ONT
Q.77 umardet uRifdE sfw@n. Find the water image 2
A\
® ® ® @
PN J A\

How many triangles are there in adjoining figure ?

@9 @ 10 ® 11 @ 13

Q.79 1 81 WAt S ATEhdTe SATH A T T 3T 1.

Study the following venn diagram and answer the questions.

Q.79 wore™®  fereft e sheTeRR 9 Wt ITd ?

8 \(7 & .
Q.79 How many women are Artists and
6 9 Players ?
31 3 @ 9 @ 3
15 /8 Artists @ 7 @ 4
Players _)m

Q.80 THATHRIT URKUT TEA Tohell 3¢ ? Q.80 How many total Artists ?
@ 8 @ 17 ® 21 @ 28

Q.81 R o1ga Wy W e 319 fohedt el 2aTga ?

Q.81 How many Artists are women but not players ?

D 16 @ 9 ® 7 @ 12
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Q.82 T 86 UEATHTEIAI JEict AUTR AT ThivTdl ?

Find the next number in the series ?
Q.82 1,3,8,19,42, 7

_________ e84 @8 0 ©8 @9
Q.83 6,12, 36, 144, ?

D 720 @ 520 ® 620 @ 420
Q.84 3,5,8,13,21,34,?

@ 55 @ 79 ® 69 @ 65
Q.85 17, 26, 37, 46, 57, 66, 77, ?
_________ e @8 O 0 D87
Q.86 20, 30, 42, 56, 72, ?

D 100 @ 92 @ 90 @ 88

Q87 OXA? OAXO? AdxxO~2
O OO @ [LOA ®LAO @ ALO

_________ O @y ~~ OR  OF

Q.89 d 92 72T A FHUIR Ug Aes@l. Find odd man out.

Q89 O == @ wfR ® TEgm ORISEIE)

Q.89 @ Church @ Temple ® Gurudwara @ Palace
15 48 12 150

a0 O Y0 %% Va0
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Q.93 1 95 faciean yAtaTgR TeTa SHUR Ug i,

Select correct alternative for the given group.

Q.93 H&m, g, WBl, ?

O = @ fo= @ ==t @ <r=m
Q.93 Rabbit, Elephant, Goat, ?

@ Tiger @ Lion ® Horse @ Wolf
Q.94 5,13, 23,37,?

®© 41 @ 43 ® 47 @ 53

95
o o Lo ?
\

Q.96 T 100 Utz S UgTHEier Haie 2eEr feeiean U= SeAtegrean Jntt
YUR A UG INEM, T GATAT I TTa.

There is a particular relation between the first & the second

term. The same relation is there between third and fourth term.
Find the correct answer in place of question marks.

Q.%%:Ezzi:? 0ol2 @12 gl @ 22

Q.99 Deer : fawn :: sheep : ?

Qe Qcalf ~~~~ Olamb @ puppy __
Q.100 (A[O] . |OIX]| .. |IOIA| . 2
1| X OIA| == ||| = =

>
O|$

O OlA
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& AT TG ATl ATE. T ATl ATEl, 376 THudn |R] ehl.

TR 20 A 24 Rawa v vw wfig=mwndt fomneatt diefacean swutem
Th hE JTHTEEER TThedl STiet. ST ST gl SN ST STl SER
eI o fadra oa TUSRUTHE UIEH Tea hiEiead ol thesald. Hetlal
fehen SEicmeiue uteq 3. =N ITEEA HTE Q¥ HeaE d R HEA e TR
AT AL, TYTE il ITHA T T 0T Fai-Te foel AT, e UTedre STatseht
TF HE T, ATETEE SIS AT ATAIEamd. AT Ued TSIEadia IUre T ATedrs
T TR 2TehicU=it ek TTeaTe! AT Usharel et Srat. Tgu fereneatean amam
UTed hgald TUTET A6 ATCATE el il (Hebel. TUTIfehl, UTaIaReRd gid o
TITETI= S[AUE M1 G e §4 d Qo feami-t wenfies ufafeimmha ymeaw fiesdm.
JTaTEd U1 TATHR AfaHeish Tuesh e, AH<ehe iU, $eHe ATd, gl Hete
TR om S, ABAH! SIHTAT Tehd TBTERIT TOHT el @l §4 RS 207% Fa
1 G VTR FEhis U T8d. Aot e Tl @ 9em st wenfies tadiTd
TfAERvR Tk . T ATHOhS oIEl ThR . T UFeaagR e 3R FHlerd
I &S TR AT, HoaR Tohall Sg1gHaiuer shidig! ureq 7. Tl fHenremasa
HIUNE HATSAR Uk F&E T4, AT HIB HIAGAR e ) {foeg et S .
T TEwS fAuioT gam.

STUTRT TRAUTEUT 31 AT ( 3™ Had : ¢ /0%/30%%)
ferneat= am= - Sh SHATH —
Tdig mean - Tdiee He -
UTeTehT<l T Ui U™l — WIS (ATT9eh)
TR WS o —
e STl dad1Ee e hieeel hRgus —
(2) TuTaERT, () feremeai=it saate, (3) =i AW, (¥) MAHARASHTRA
TALENT SEARCH PARIKSHA JALGAON 31 A1aT=l %.1900 / — oI TR sichet St &
() TA:=a O U fehie THeT URhIE ( & ) TEN gieitdehie
T[0T SHHTE! BTS: ITehdTd. ATgE! IIhard. TUTTE a1 STEATE $.1900 /- <1 gl SISt uXa
Hell A, WaqrEuit e feneatea swufensh T gried wa et s,

- e
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